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E|[E|C| E|C|VPVP| VP
6[6[3]5]|3|7 10 20
1| 3283 |10(10|10] 10/10{10{ 10{admis 10| 60] - 9,95 10liunie 0
2| 3284 |10/10|10] 10{10{10| 10|admis 10| 60] - 9,95 0 0 0
3| 3285 |10[{10{10] 10{10|10{ 10{admis 10| 60] - 9,67 0 0 0
4| 3302 |10{10]10] 10| 9(10] 10]admis| 9,925| 60| - 9,74 10]iunie 0
5/ 3286 |10/10[{10{ 10{10]10| 10{admis 10| 60] - 9,5 0 0 0
6| 3288 | O] O] O] O] 0] O] O 0 0|PSCM, PCACATIA, MMSCUC, MC, Practica2 0 0 0 0
7| 3289 [10] 9(10| 10{10]|10| 10ladmis| 9,85| 60| - 9,83 0 0 0
8| 3303 |10[10(10] 10| 9]10| 10{admis| 9,925| 60| - 9,62 10liunie 0
9| 3291 |10{10{10] 10{10|10{ 10{admis 10| 60] - 9,42 10liunie 0
10| 3292 |10(10{10] 10/10{10| 10{admis 10| 60] - 9,49 0 0 0
11| 3294 |10(10{10] 10/10{10| 10{admis 10| 60|MMSCUC-7, MC-7, SCSAP-5 8,91 10liunie 0
12| 3297 | 8| 7| 9] 9| 8|10| 10{admis 8,9| 60| - 8,53 9,5]iunie 0
13| 3298 |10(10[{10] 10/10{10| 10{admis 10| 60] - 10 10]iunie 0
14| 3095 | O O] O] O] Of Of O 0 0|mC 0 0 0 0




